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&5 X 4 ﬁ:c; Tﬁﬁ“ﬁh\(‘z)(bﬁﬁ}%ﬁ jj(gil?(m%)é X 4 ﬁﬁﬁ’é}g@gﬂfw ﬁq&; jj(lfifn?)é X 4 ﬁq&; J:ﬁn“ﬁ;ﬁ\(‘z)(btt% jj(:il?(n?)é X 4 J:ﬁﬁ;ﬁ\(‘z)o)tt?% ﬁq&; jj(lfifn?)é
P 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.17 5221 | =nst | 0oo ~ 417|203 10.84 FhnLst 1.00 | 6.00 ~ b6.00 52.21 | #nst | 5,00 ~ 6.00| 2.03 10.84
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.89 60.98 | st | 000 ~ 489 1.93 10.35 FhnLst 1.00 | 6.00 ~ b6.60 60.98 | =nst | 6.00 ~ 6.60| 1.93 10.35
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.64 57.89 | =nst | 0oo ~ 464| 1.86 9.93 FhLst 1.00 | 6.00 ~ b6.00 57.89 | #nst | 5,00 ~ 6.00| 1.86 9.93
4 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 452 56.37 | #nLS | 000 ~ 452| 1.91 10.23 ThList 1.00 | 5.00 ~ 6.00 56.37 | =nRS | 5.00 ~ 6.00| 1.91 10.23
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 514 64.10 | TN | 000 ~ 514| 1.82 9.74 ThList 1.00 | 5.00 ~ 6.60 64.10 | Ths | 6.00 ~ 560 | 1.82 9.74
P 100kN/mM%#BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%i#BZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.56 56.81 | =nst | 000 ~ 456 | 1.90 10.156 FhLst 1.00 | 6.00 ~ b6.00 56.81 | #=nst | 5,00 ~ 6.00| 1.90 10.156
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhst ~ ZhLst ~
100kN/mM%{8Z. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~
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